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INSTRUCTIONS

Read the instructions carefully.

The admission to the examination is provisional.
In the event of any information furnished by the
candidate found false / in-correct/ incomplete
or illegible detected at any stage, the
candidature shall be rejected.

Please bring the admit card and the
acknowledgement card for admission to the
examination and produce the same as and
when required.

Please put your full signature in the descriptive
roll-sheet in presence of the invigilator. .
Darken the circles in'the OMR Sheets
completely with Blue / Black ball point
pen only;1 artial darkening shall not be

u I No: correctlyin the space

Booklet until instructed.

Do not take any other materials to the
examination hall other than pen and pencil.

Electronic devices such as calculators, Slide
rulers, cell phones, log tables, camera etc. not
to be taken to the examination hall.

Please check the No. of printed pages,
Questions Serial No. and in case of any
discrepancy, exchange the same within five
minutes and thereafter no complaintshall be
entertained.

No candidate shall be permitted to leave the
examination hall until the examination is over.

Discipline must be maintained in the
examination hall as per the Odisha conduct of
Examination Act 1988. :

The candidature is liable for rejection in the
event of any infringement of the instructions
mentioned above.

The candidates are not allowed to go to toilet

“during the last twenty minutes of the

examination.

The 2nd part of the carbonless OMR should
be carefully detached and taken away by the
candidate after answering all the questions.
The original OMR sheet must be handed over
to the invigilator.

B - 1C/156

(1)

(Continued)



Dhruv Vashisht
Stamp

Dhruv Vashisht
Stamp


OTET -P-ll

§ig QI8 6 FVIRIR ]
CHILD DEVELOPMENT & PEDAGOGYJ

g664a g4 SI6QIG 20 GAUIAIRE | 6296w NUQ 0g 2aade 218 OMR Tda
Qg QAGY ARl / AR AR AN AR QIR A°YS V6L AR IR |
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“Which characteristic is not an

indicator of creativity ?

(A) Originality in thinking
(B) Convergent thinking
(C) Fluency

(D) Flexibility

By which method a gifted child can
be.identified ?

.(A) Interview

(B) Intelligence testing

(C) Diagnostic testing

(D) Attitude testing

“Natural response to a stimulus can
be connected to an unconditioned
stimulus” — Who experimented it
first ?

(A) Pavlov

(B) Thorndike

(C) Galton

(D) Kohler
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Which.is an external motivation ?

(A) Thirstfor knom}ledge |

(B) Achievement

(C) Self-esteem

(D) Praise

Which is the first step of Mastery
Learning ? '

(A) Determining the level of

mastery
(B) Teaching for mastery
(C) Defining mastery

(D) Planning for attaining mastery

Which is different from other three

from evaluation point of view ?
(A) 'Ratingscale

(B) "Progress card

(C) Checklist

(D) Questionnaire

According to Piaget, cognitive
development takes place in which
group of learners at the concrete

operational stage ?

(A) Pre-Primary

(B) Primary

(C) Higher-Secondary
(D) Allof the above
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A teacher emphasises on visual
writing while teaching in class 1.
Which type of development does it
aimat?

(A) Mental

(B) Sensory-motor

(C)
(D)

Intellectual

Emotional

Which characteristic is seen among
backward learners ?

(A) - Ability to analyse

(B) Objective-based behaviour
(C) Desire for vocation of repute

(D) Inability to express ideas

What is the meaning of learner’s
social development ?

(A)y " Development of social behaviour
(B) Development of society

(C) Development of the individual

(D) Development of the community

At the beginning of teaching a lesson,
some questions are asked. This is
based on which law of learning ?
(A) Effect

(B) Practice
(C) Readiness

(D) Use

(Continued)
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(iy All positive- emotions are

always good.

All negative emotions are

always bad.

(i) is correct and (i) is wrong
(ii) is correct and (i) is wrong
Both (i) and (ii) are correct

(D)

Both (i) and (ii) are wrong

Which Venn diagram indicates the

hierarchical order of knowledge,
understanding and application ?

(A)

(B)

(C)

(D)

QHEE

Which is not appropriate for cogni-
tive development of the learner at
initial stage of learning ?

(A) Explanation

(B) Classification
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(C) Differentiation

(D) Spatial reasoning

Visually impaired learners belong to
which category of disability group ?
(A) Mentally handicapped

(B) Economically handicapped
(C) Socially handicapped

(D) None ofthe above

Which is a factor of insightful
learning ?

(A) Problem solved by insight is
remembered for a long period.

(B) Insightful learning is more
effective than trial and error
learning.

(C) Insight is useful for problem
solving.
(D) All of the above.

The mean age of 20 children of a
class is 12. A 10-year old child
left the class and a new child took
admission. What is the age of the

new child in years ?
(A) 14.5

(B) 14

(C) 13

(D) 125
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Which statement refers to evaluation ?

(A) The child stood first securing
94.5% marks.

(B) Area of the house is 1200
sqare feet.

(C) The caris running at a speed -

of 80 kms per hour.
(D) Binay completed 100 metre

race in 12 seconds.

“When one in audiance in a meeting
claps, others also start clapping”,
is an example of which type of
imitation ?

(A) Sympathetic

(B) Unconscious

(C) Deliberate

(D)"| Ideo-motor

Which is notthe reason for plateaus
in learning ?

(A) Contentdifficulty

(B) Utilizing more time for learning
(C) Lackofrest

(D) Ineffective learning method

“Education is a tri-polar process.”
What are the three poles ?
(A) Learner, Teacher and Society
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Learner, Teacher and School

(B)
(C) Learner, Teacher and Book

(D) Learner, Society and School

Which is the correct order for prepar-

ing an achievement test ?
(A) Identifying objectives, selection
of content, preparation of blue

print and writing test items

Preparation of blue print, iden-
tifying objectives, selection of
content and writing test items

Identifying objectives, prepara-
tion of blue print, selection of

content and writing test items
(D) Selection of content, identifying
objectives, preparation of blue

print and writing test items

A teacher prepared a test in science
and administered it to a group of
students. He then administered a
standardised test to the same group.
The co-efficient of correlation (r)
between the two sets of marks so
obtained was + 0.82. What does it
indicate about the teacher-made

test ?
(A) The testis valid.
(B) Thetestis reliable but not valid.
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(C) The testis objective.
(D) Thetestis vélid but not reliable.

What is there in a blue-print ?
(A) Relative weightage to the

objectives

Relative weightage to the

(B)
content
(C) Relative weightage to type of

questions

(D) Allofthe above

Which is correct from mastery

learning point of view ?

(A) Equallearning objectives for all

thelearners.

Method of teaching is equal for

(B)

all the learners.

Rate of learning is equal for all

(©)

the learners.

Learning time is equal for all the

learners.

Which statement on development is
correct ?

(A) Development does not take
place after the age of 20 to 22
years in case of boys.

Development stops at maturity.

(B)
(C) Developmentdeclines after the
age of 40.

(D) Development continues till

death.
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At what stage of development, the
child tries to draw the attention of
others towards his own work ?

(A)
(B)
(C)
(D)

Infancy
Early childhood
Later childhood

Pre-adolescence

Which statement shows correct
relationship between Mean, Median
and Mode of a Normal Probability
Curve?

(A) 2 Mode = Median + Mean
(B) 2 Median =Mean + Mode
(C) 2Mean = Median + Mode
(D) Allof the above

“Intelligence is the ability to carry on
abstract thinking” — whose opinion

isuit ?

(A) Terman
(B) Binet

(C) Thorndike
(D) Galton

Which statement on intelligence is
correct ?

(A) Intelligence increases from
birth to death.

Intelligence develops by the in-
fluence of environment.

Intelligence refers to a specific
ability.

Intelligence has no correlation
with learning process.
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‘Q106de’ Q APl @4 ?
(A). L6oR 11218
(BY sclgigIel 9218
(C) Q2004 Q218

(D) @2ANE A28

62a6 2IFQIQ 1998¢ UGS
QURYIQ Q6L ?

QTR

allaialel

270Q AR

!
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51.

52.

53.

galq 652 geea é@ﬁ@: @q?
(A) TR 6P 6QRIAT
(B) QST QU
(C) 6dlldaa QU

(D) QIR QUG

6Q96 Q@F 92/8Q Adea ARl ?
(A) UNQYRT AR 5 RS

(B) 28R KR AAR F

(C) 40 49 F1RIEQ IR @ af<l
(D) RAdea b 278 98 Q<
s@RuInIER 6906 dRIgia AL 93
Qg ?
(A) RUIFFNL 2VIR IS
(B) AR Q”0IQ QYR

(C) QNIRRT VA QRIRQE

(D) RGNS VIR QYR

609 Q35 Y@ Qe g9 99Q RYVEQEd
gy ?
(A) gg9ee FGe eaaqee ol

ARG 6212 PRI
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(B) 9996e IR QRPN 623
ORI

(C) dE9ae QR QRN 623
ORI

(D) 99969 ITEER 2T 2R 629
R |

2R 6441Q ‘96’ e @I dae
64619269 9RIRAIR — FP A°ARER
306 gR 688 ? 4AI-2181 Q8 69QQ
@O 6IReE ? 2d 9§ JoIAem 1@
gggee dmlel 0] @as caaaIan! |
N2PIRIQINA 69Q ARY Jod Q@8 ?

A) BIQIA

(B) 6QRIAR
(C) geaIsIae

(D) QIR F6RIQR

Ge160 BeILIRLS! 99Pe FRIQ 6896
6QRUAR g ?
A) ‘WG’ FAGIUENUR 9%

emat |
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(B) QdIQ IR 6281 699 QTR ?
(C) 996 oRa QIa g2 |

(D) QURGI AR ALE QQRIR ?

glefie 2a6a 9ge INFe AIoigeea

6R00 IR F668Q 962 ?

A) GRUISR RIGIERR

(B) 398 UIEIEe

(C) 2ARINER

(D) 2Id QITIRER

glafia ea6a FIgaIdl AR /!

IR 699 976 AAYS ?

(A) 9EAEe — gOmse — TR
AR — JORHUR — RIS MR

(B) gofdR - geRde — Qefds -
geaIae SR — RIS AR

(C) gamé - (3MeR — GPRIR

AP - YPAIAR AR — ORI

eNEe — ORIAR MY —

4efIe MEe - Foase -

QYRGS
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58. 6@ 90f QeI gas §20 QNI

59.

60.

92Ql IR dQuigineq Qe g2a ?
(A) 99 Q0@

(B) @189 90®

() ae aoe

(D) @REIG COR

Q66118 FRIQ 6996 RIS dSlgINIee
PR06Q QHIAINRIZ ?

(A) 09 2PV
(B) Q1o 4ee€I

(€) AYM ANGOR ¥Q FUIAS

(D) g4 A0 AANER 6RF AR

FeriafIq 6Rad RSIFR ARV
QIdigea Za6e g6 ?

(A) Q30! QR goerIdal
(B). 2198 goeaIdiel

(C) g9 agal

(D) <losdiaR!
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ENGLISH J

Read the passage carefully and
answer the questions (Q. Nos. 61 to 65)

choosing the correct alternatives given :

Patriotism is enough during war. For one
thing, people become actively conscious
of their country when it is threatened. For
another, since everyone or nearly everyone
feels it, there is a strong collective emotion
flowing through the country. But when the
war is over, the country recedes from
consciousness and it is rarely even at the
back of the mind. The question “Am | daing
any good to the country ?” doesn’t occurto
the mind : and even the question is ‘What
am | doing good or bad for the country ?’
occurs only rarely. A limited patriotism is

better than none, but it is not enough.

61. Patriotism is quite easy during war,

since :

(A) waris the only factor for arou-
sing patriotism

(B) we become patriotic when we

are in a fighting mood

BK - 1C/156

(36)

62.

63.

(C)

(D)

OTET - P-ll

patriotism is always in con-
sciousness

we become conscious of it

when the country is in danger

Another reason suggested by the

author for the emergence of patrio-

tism during the war is that :

(A)

(B)

(€)
(D)

patriotism is required during
war time

we become conscious of dan-
ger to ourselves during war
time

patriotism becomes contageous

everyone feels that he should -

strive to protect others

When the menace of waris over :

(A)

(B)

people are generally anxious to

serve the country

people don't consider it nece-

ssary to serve the country

people tend to be totally

unmindful of country’s security

there is no need of people to

be interested in others welfare

(Continued)



64. The expression, a limited patriotism,
used in the passage means :

(A) people’s indifferent attitude to-

wards the country
(B) people’s love for other
countries

(C) people’s selfcenteredness

(D) people’s love for the country
exhibited only during the war

65. The word ‘recedes’ in the passage
means :

(A) moves gradually away
(B) continues
(C) overflows
(D) tightens
Read the poem carefully and answer

the questions (Q. Nos. 66 to 70) choo-
sing the correct alternatives given :

Today the world is a little more my own.
No need to remember the pain.

A blue-frocked woman caused, throwing

Words at me like pots and pans, to drain
That honey-coloured day of peace.
‘Why don't you, join the others, what

A peculiar child you are !
Onthe lawn, in clusters sat my schoolmates
sipping

Sugarcane, they turned and laughed ;

Children are funny things, they laugh

In mirth at other’s tears, | buried

BK - 1C/156

66.

87.

68.

69.

OTET - Pl

My face in the sun-warmed hedge
And smelt the fiowers and the pain.
The expression ‘honey-coloured day’
refers to the poet’s :

(A) firstdayin school

(B) birthday

(C) picnicday

(D) lastday inschool

What her schoolmates did notdo at -
the picnic ?

(A) They satin clusters on the lawn.
(B) They

sugarcane.

enjoyed sipping

(C) They shouted in joy at play.

(DY They turned at the poet and
laughed.

What really hurt the poet was :
(A) the words of her teacher
(B) the sunlit hedge

(C) theflowersinthe hedge

(D) herfriends’ company

The poet loved more.

(A) herfriends
(B) the nature’s beauty
(C) the teacher

(D) the picnic

(Continued)



70.

71.

72.

73.

‘What a peculiar child you are !'

This line expresses the speaker’s :
(A)
(B)
(C)
(D)

delight
querry
displeasure

pleasure

The teacher said that Master Raju

had better

(A) play
(B) played

Tennis.

(C) toplay
(D) playing

Miss Rosy was brought

by her uncle.

(A) up

(B) in

(C) of

(D) off

People say Akbar was great. The

passive form of the sentence is :

Akbar is said great.

(A) tobe
(B)
(C)

(D)

being
have been

to have been

BK - 1C/156
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B)
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Lily studies in —___ university.
(A) a

an

()
(D)

the

no article

Kaveri said to me this morning,
“| am leaving for London tonight.”

The indirect speech of the above
sentenceis:

(A) Kaveritold me this morning that
she was leaving for London
tonight.

Kaveri told me this morning that
she is leaving for London
tonight.

Kaveri told me that morning
that she was leaving for London
that night.

(D) Kaveri told me that morning
that she is leaving for London

that night.

Which of the following is correctly

punctuated ?
(A)
(B)
(C)
(D)

He said “Have a nice day Sir.”
He said, “have a nice day Sir !"
He said, “Have a nice day, Sir.”

He said “Have a nice day Sir ?"

(Continued)
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79.

80.

Sunday will be a red-letter day. My

sister is getting married.

The underlined idiom means

(A)

(B)
(C)

a day of rejoicing
auspicious day
memorable day

(D) anunfortunate day

My uncle has presented me with a

watch.
(A)
(B)
(C)

gold beautiful Chinese
beautiful gold Chinése
beautiful Chinese gold

(D) Chinese beautiful gold

The driver as well as the passengers

killed in the accident.

(A) was

(B) were

(C) havebeen

(D) none ofthe above

Roofs ofthe houses _________in

the last cyclone.
(A) had been blown off
(B)

was blown off

BK ~1C/156
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82.

83.
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(C) has blown off
(D) are blown off

The primary aim of teaching English
to the children is to develop their

(A) writing ability

(B) communicative ability
(C)
(D)

reading ability

reading and writing ability
Knowledge of punctuation can be
tested through the test of :

(A) speaking

B)
(C)
(D)

The first skill required for learning a

reading
writing

listening

language is
(A) reading
(B) writing
(C) listening

(D) speaking

Which of the following doesn’t come
under the subskill of speaking ?

(A)
(B)
(C)
(D)

Fluency
Clarity
Pronunciation

Skimming

(Continued)
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Holistic development of the learner

can be well assessed through :
(A) month end evaluation

(B)

(C) termend evaluation

unit end evaluation

(D) continuous comprehensive

evaluation

Which of the following is not a prin-
ciple of communicative language

teaching ?

(A) Instruction is contextualized and

meaning-based.
is

Learner's interaction

(B)
maximised.

Repetition and drilling are used
maximally.

(D) Errors are valued as evidence

of learning.

Remedial teaching is a useful and

effective learning strategy for helping

~(A) the brightlearners

(B) the gifted
(C) thedropouts

(D) theslow learners

BK - 1C/156

(40)

88

90.
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| SET-C |

The 2m of teaching prose is to

~r=ate several emotions in the

-
- s

3}

make the pupils familiar with

good sounds of English

C: nelppupils enjoy stories

D) cumtivate the skill of using lan-
guage materials

Grammar should be taught :

(A) inisolation

(B) throughrules

(CY in context

(Djy in special classes

Which s not a principle of teaching
and learning English at elementary
level as per NCF 2005 ?

(A) Building learner’s familiarity
with language in meaningful

situations.

Complementing and supple-
menting teacher inputs.

(C) Using existing cognitivity and

linguistic resources of learning.
(D) Putting emphasis on learning

the rules of grammar.

(Continued)
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94.
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J&o 9Q° RIP

MATHEMATICS & SCIENCE

232 415 8" 169, 328 cuea Qe
QHIIT 6960 ?

(A) 811

(B) 16°

(C) 328

(D) Q@AEQD AR §6L

x = 09 626R, X (X2 + 3x + 3) IR 6963 ?
(A) 999999

(B) 99999

(C) 9999

(D) 999

@ eISI6Q 69118N gga OR 28a RIS
ae18Igl 4 9Ra AN 6 @] 2ee MG
6Q 9@ FAQ 2014 | UG 64 Q1T
100 § g9e @aa 2@ 210 @AQ
QR8I 6969 6Q 6R60IT 9 QN
QRR CARYMI ?

(A) 38

(B) 36

(C) 28

(D) 26

P64 QRN 6AITN g QAER, 9’
FE1QUE 2TV 20% IS QA 6xFeR |

SRIN 6967, 6Q FO0RG! 660 AVIG
6Q6R, 8% AR AIRER ?

(A) 10%

(41)

91.

92.

93.

94,

Which of 232, 415 811 169, 326 is
the greatest ?

(A) 811

(B) 16°

ey a2f

(D) Not possible to answer

If x = 99, what is the value of
X (X2 +3x+3)?

(A) 999999

(B) 99999

(C) 9999

(D). 999

In an examination, a candidate
scores, 4 marks for every correct
answer and loses one mark for
every wrong answer. If a candidate
answered 100 questions and scored
210 marks, how many of his answers
were wrong ?

(A) 38

(B) 36

(C) 28

(D) 26

A shop-keeper marked the price of
an article 20% above his purchase
price. What percentage of discount
should he allow, while selling, so that

~ he gets a profit of 8% ?

(A) 10%

(Continued)
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(B) 123%

(C) 153%

(D) 16%

F019 699 9AG FRIER AR ORR AT

Q2 ?

(A) 6615 QITI6R YD 6RIR A°§Yl
8 628 QIFY 68F QAT &R
Qg

(B) 66II5N ARAQ QYIERAIER @S
QIQ QG B QNIRRT TeRe
QRN S| ARLE

(C) 64ITN QIFYER AYS IS A°El
3 6ARIRER Iy QR o
ARG

(D) @aa 69616Q SORQAS CQRBNEE
oeagel Ara (a416a) 8 9ol

~

(|. 4. 6)

22 % 3% x 72
25 %52 %33 x7

Q dANIRQAEQ

69Q g9la Q°¢l AFe ?

(A) QI Qa8 QoW

(B) 2SR G|

(C) 2Q1f 6dMYae Q@ade Q°Hyl

(D) Q19 YQedIRsgR e @afe
QI

(42)
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SET-C
B) 123%
(C) 153%
(D) 16%

Which of the following pairs do
not have a direct variation
between them ?

(A) No. of persons engaged to do
a work and the number of days
required by them to complete

the work

(B) The no. of vistitors in a gallery
of a circus show and the amount
of money in rupees collected
from the sale of gallery tickets

(C) No. of persons engaged in a
work and their wages in
rupees

(D)= The time (in hours) for which
a train moved with a uniform
speed and the distance
covered (in km)

What kind of number will be
obtained as simplified result of
22 % 3% x 72
2 3 ?
25 x52x33x7

(A) Terminating decimal number

(B) Non-negative integer

(C) Non-terminating recurring
decimal number

(D) Non-terminating non-recurring
decimal

(Continued)
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98.

99.

100.
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% Q GaeIAe FeRINQ 6RISIAR

FERIN 6060 ?

3
A 5
3
B -3
4
© 3
4
D) -3

@ UG AHYI X, 69Q A°HYI 626Q
2QQ8 626/, 2R IRIAR JeRIAN
¢1Rl 6AQ 6ACER 2N ?

(A) Q@ Q°¢lYl 696 (N)
(B) gade JIRde aos 6as (N)

(C) -~ gela-ayl 69 (2)

(D) 98en Q°Hyl 626 (Q)

URRQ QAR 204, F19IQ AR
Q@agd | QIEQE g6e UFR Q9Q,
1R QAR BFGE AR | 6062 AZRR
QRAIR A 6969 ?

(A) 10

(B) 15

(C) 20

(D) 25
L

a=x3 -x

6006 a3 + 3a Q2 QAR ?

Wl=

, x > 0 626R, F949

1
A x-

(43)
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| SET-C
What is the additive inverse of the

multiplicative inverse of i 7

3

A5

N w

(B) -

w| s

(C)

w| s

(D) -

Towhich ofthe following sets of numbers

a non-zero number x could belong,

so that the multiplicative inverse of x

also belongs to the same set ?

(A)  Set of Natural-numbers (N)

(B) Set of extended Natural
numbers ( ﬁ)

(C) Setofintegers (Z)

~ (D) | Setof Rational Number (Q)

99.

100.

The present age of Arjun is twice that
of Sriya. If five years ago Arjun was
thrice as old as Sriya was then, what
is the present age of Arjun ?

(A) 10
(B) 15
(C) 20
(D) 25
1
Ifa=x3 - x 3 x>0,thenwhich of
the following is equal to ad+3a?

1
(A) X=7

(Continued)
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6226 080 g¢ 2RYS 6L ?
(A) @doa deg QU 28
(B) ¢8o 4R 2GR J8L

(C) 980 4R garae I8y
(D) 0§0Q gLV FEae

2661 91 940 e gosIdelea QG

6RQ1 TR 2N 2GR 9RIY @Qed |

42| 686 VIR 692 A6REN J9IRE.2

(A) RIS

(B) RUAYR

(C) Gaiqe

(D) QAL QR4

Qe 676aI6a ANg 180°— el 89

646168 MNP AR 60 ARG
QAERIQQE ?

(A) el 9ad
(B) 296QI2 98
(C) Qegud aad

(D) Q64§ ARG

(44)
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(B) X+—)12
€ X+
(D) x3-%

Which is not included among the
characteristic of Mathematics ?

(A) Mathematics has its own language

(B) Mathematics is an abstract
subject

(C) Mathematics is a systematic
subject

(D) Mode of expression of Math-
ematics is systematic

A child shows much interest to par-
ticipate in Mathematics quiz compe-
tition. What objective of learning
doesit indicate ?

(A) Cognitive

(B) Affective

(C) Psyého-motor

(D) Allof these objectives

“Sum of the three angles of a triangle
is 180°" — what method is the best

forteaching itin class VI ?
(A) Inductive method

(B) Deductive method
(9)) Analyfic method

(D) Synthetic method

(Continued)
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RP6gEI6R IR YIBJRe gald
VR IR 699 980 AN ?
(A) 26D B AIEAIR

(B) gee

(C) a%& Iy

(D) QJ64I8 B A°6qIS

gdie d94 AR AAQY ARG AR

geIfl 16QIE 6QITIR TUIKNRT | 6QA7ER

6R% RF6Q ALARE AT ?

(A) 91T R QoY A°g@, AAQYI
S2MRAQE, AAAIQ AVKAE G

28R 6109

(B) QA QRIeQd, AAAY

0261904, 9IATR Q24 A°gL G

2SRRI IO

(C) 49QYl $2612Qd, AAAYIR
AWIRQE, JIAFR 92y A°Gge G

APPER! 10w

(D) 2PRER! FIOR, AAAY TR,

AR IRFQE @ IATFS Q2
Qge
QR0 9140 4948 RINY-RE TR IR
QAP 962 ?

(A) <I049g 6@Le

(45)
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What teaching method is the best for
teaching theoretical proof of
Geometry in higher classes ?

(A) Inductive and deductive
(B) Project

(C) Learning activity

(D) Analytic and synthetic

The first four steps of the problem
solving method of Ilearning
Mathematics are given. What is the
order in which they are to be

followed ?

(A) Collection of relevant informa-
tion, Identifying the problem,
Defining the problem and
formulating hypothesis

(B) Defining the problem, Identify-
ing the problem, Collection of
relevant information and
formulating hypothesis

(C) Identifying the problem,
Defining the problem, Collec-
tion of relevant data and
formulating hypothesis

(D) Formulating hypothesis, Identi-
fying the problem, Defining the
problem, and Collection of rel-
evant data

Which is not an element of activity

based approach in learning
Mathematics ?
(A) Content based

(Continued)
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108.

109.

(B) 2eR QI9Q

(C) QR PR

(D) Qo8 9@ 2eagad

6296 ode dxele aR gesde
QURQE ? |

(A) F6eR

(B)
(C)

6186l

R00Q ¢a

(D) <AIee ARIQ 61636 @62
a1 8o A0 QA QAL

6AIRER AR 62609 g AR
2I2IE | 6996 QIRIR KNS FEL ?

(A)
(B)
(©)

QaRIe aeIsl QaS!

Q6 KA

Q|

(D) 9o% IO g8 USIS 969!

626 280 Q19! 0aden ATIQINA gOF
QeIRg ?
(A) <8oa A0g ITC RIQI AIJAR

9 SR AR Q@

(B) @1916Q F¢g €2IQIal F@

QAERHYEQ NI A6
(C) QeI §@R AOYERANR IO FRR!
AR

(D) Qa6QIs AFY
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(B) Joyful .
(©) _ Challenging

(D) Spontaneous involvement

Which is a projected teaching aid of

Mathematics ?

(A) Model

(B)
()
(D)

At the introductory stage of teaching
Mathematics, the teacher asks some
questions. Which is not a
reason for it ?

(A)
B)
©)

Domino
Napier Piece

None of these

Testing previous knowledge
Motivating the pupil
Giving hints about the difficulty

of the new lesson
(D) Attracting towards the new

lesson

VWhich statement indicates the limi-
tation of teaching Mathematics
through play ?

(A) Alltopics in mathematics can-
not be taught through play

(B) Ifindulged in play the main aim
may be lost

It is difficult to prepare lesson

plan based on play

All of the above

(Continued)
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ge2e 989 8 FAasIR ?
(A) 2I6RIDT B A°6qSE
(B) 2621 8 F6484

(C) uleQle! B I6gI&

(D) Q6496 8 A°6gI&!

3,5, (k +2) 8 (k + 4) QAIQAIF1 626R,

B2 6096 ARIQE F6L ?

x
g
—_

(A)

x
I
—

(B) i1

(©)

O kT2

862, 863, 864 3 865 F1IQ 620 QAR
IR URF® 9@ C€e el

€RQ ?

(A) 862G 863
(B) 8636 864
(C) 8626 864

(D) 863 G 865

(47)
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110. Which two methods of teaching

1.

112

Mathematics are complementary

and dependent to each other ?
(A) Inductive and Synthetic
(B) Deductive and Analytic
(C) Inductive and Analytic

(D) Analytic and Synthetic

3,5, (k+2)and (k + 4) are propor-
tional, which of the followings is not

defined ?

=
+
-—

(A)

=
|
-

-
|
-

©

N
Py
+
-

(D)

The cube root of the sum of which two
numbers chosen from 862, 863, 864

and 865 is a Natural Number ?
(A) 862 and 863
(B) 863 and 864
(C) 862 and 864

(D) 863 and 865

(Continued)
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AR9RQ YITR ANQRTR TR

qeTe Q2 QAR ?

A) a®6 a'?aq argea gaoe Qe
a6 a'® q adqea qeoe
aee

(B) afa a'®a aeqee geae Qe

a6 a'? @ edaea qaae

2191%

(C) a%6 a’a aeqea geae Q@
a® 6 a'?2 aadqea qaae
QeIQ

(D) a6 a'?a A99ea Qean.Qe
a® @ a'® a Qdqee qdae

%1 91%

AABC @ AB 6 AC <QIg QUeq

Qelges D 6 E 89 2986 | DE 6 BC

QAR 99° DE = % BC | 9% AD +

DE + EC = 24 6Q. {. 24, 6069
AABC @ 08Q1ell 664 64. &. ?

(A) 24

(B) 36

(C) 48

(D) 52

(48)

113.

114.
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From among a®, a° a'?and a'®, the
product of the cube roots of which two
is equal to the product of the square
roots of the other two ?

(A) The product of the cube roots
of a® and a'? is equal to the
product of the square roots of

a%anda’8

(B) The product of the cube roots

of a® and a'8is equal to the
product of the square roots of

a%and a’?

(C) The product of the cube roots
of a and a'8is equal to the
product of the square roots of

a®anda’?

(D).__The product of the cube roots
of a%and a'? is equal to the
product of the square roots of
a®anda'®

In triangle ABC, D and E are points
on AB and ACrespectively such
that DE || B and DE=%BC I
AD + DE + EC =24 cm, what is the
perimeter of AABC incm ?

(A) 24

(B) 36

(C) 48

(D) 52

(Continued)



115. @@ ©9,6Q 29l

116.

BK - 1C/156

A PQR 6@
m| PQR =90°, PQ = QR =14 cm,

2% ﬂ L

PMR 6228 699 Q 6 QR QYIQIf 988
N\ o

9aQ 919 ¥9° PNR 6288 PR QuIQ

Q4 2RQa | 6062 LIUTE 699Q

. L 22

CRQTR 6960 @6l 6Q.8. 7 | T~ =

N
P

(A) 88
(B) 90
(C) 96
(D) 98

A — " A
APB 2699a 286446a 2ae PQR

6208 92e¢ 9@ | PQR 9@Q 6390®
6 APB 269@Qa 6390aq QM0

E@6Q ?

(A 1:2
(B) 2:1
(C) 2:3
(D) 3:2

(49)

OTET - P-ll

115. In APQR, shown in the given figure,

m| PQR =90° and PQ = QR =
14 cm ; PMR is an arc of a circle with

Pl
centre Q and radius QR. If PNR is

the semicircle with PR as diameter,
then what is the shaded area in

Q
(A) 88

1 (B) 90

116.

(C) 96
(D)~ 98

PQR is the greatest circle inscribed

in the semicircle APB. What is the
ratio of the area of the circle PQR to

the area of the semicircle APB.

P

20N

A B
(A) 1:2
(B) 2:1
(C) 2:3
(D) 3:2

(Continued)



117. @@ ©996Q, ABC @ QAGQI2 G@e |

118.

BK - 1C/156

AB = AC = 13 64. ¢I., BC =

10 6<. 4., BC agea E , 9@ QQ
690f@ CE = 8 6Q. é. EF L AB
626@, A FEB @ 6890% 3 A ABC @
68QURA AP 6REQ ?

A

B C E
324
169

5 162
()169

81
169
(D) Q4o @8 629 Q1@

AABC @ BC QIg @géa P8 Q @9
Qlgq, AAgsaa g 99° R, AC@
A8 | A APB @ 69g9% 30 @d
6Q. &1. 626R, A PQR @ 63907 660
Q4 6Q. @. ?

(A) 30
(B) 20
(
(

~—"

C) 15
D) 10

S

(50)

OTET -P-l

117. Inthe given figure, ABC is an isosceles

118.

triangle in which AB =AC = 13 cm
and BC = 10 cm. If E is a point on

_)
BC such that CE = 8 cm and
EF L AB , then what is the ratio of

the area of A FEB to the area of
A ABC.
A

324
169

o 162
()169

o
169
(D) Cannot be determined

P and Q are the points of trisection
ofthe side BC and R is the midpoint
of the side AC of AABC. Ifthe area
of the A ABP is 30 cm?, what is the
area of APQR in cm? ?

(A) 30
(B) 20
(C) 15
(D) 10
(Continued)



Q@ 9961, AD 8 BE @ 620Qg K|

119.
m«£AKB = (2x — 25)°, m£BKC = x °,
mZCKD = (2x + 5)°, m«DKE =
(y — 15)° 9@ mZAKE = z° 626m,
Z—(X+Y) QIR 6R60 ?
A B
C
K
E D
(A) 155
(B) 95
(C) 45
(D) 15
120. @@ 3869, A ARQ @ AR 4@° AQ
QeRU6R K2AIFEA M 8 L 92 2U9J0
6998@ ML || RQ | gea A'ABC @
AB @12 Q2@ RC Q918 .|
RQ = 12 €4. §. 8@ BM = CM 626®
ML Q 6244 6960 64. ¢. ?
B A
M L
R G
Q
(A) 3
(B) 5
(C) 6
(D) 8
BK — 1C/156

(51)

119.

120.

A

OTET - P-ll

> &
In the given figure, AD and BE
intersect at K. mZAKB =
(2x—25)°, m«BKC =x°, m«CKD =
(2x + 5)°, m«DKE = (y — 15)°and
m<ZAKE = z° What is the value of
z—(x+y)?

A B

(A) 155

(B) 95

(C) 45

(D) 15

In the given figure M and L are
points respectively on the sides AR
and AQ of A ARQ such that
W” RQ. The side AB of AABC
is parallelto RC. If RQ =12 cm and

BM = CM, what is the length of ML
in cm?

B A

(B)
(C)

(D)

o O O W

(Continued)



121.

122,

123.

663N 92g, daieaiq 0.6 §/6a° gad
Qe Qg 2R /&, 3 @. 4. Aed Qg
20Q0 @09 dIRl 6960 AAL AT ?

(A)
(B)
(©)

60 s
80s
100s -

(D) 120s

QUERE Q010 A8han ANl 9@

Aifel aIQ 9gQ d2 AR 6La0q

SUIAN ?

(A) AR6QG!
(B) 0869dQ 9AQeR
(C) C56Q9Q AFeRRa 21

(D) <@eeaa Qd

6 Q

6 Q 1.5A

—iH—

12V

aé@g AR R=7?
12 Q

8 Q

50

2Q

BK-1C/156

(52)

121.

122.

123.

OTET - P-ll

How much time a bus will take to cover
a distance of 3 km on a straight road
when it started its journey from rest
with an acceleration of 0.6 m/s®?

(A) 60s
(B) 80s
(C) 100s

(D) 120s

According to Newton'’s second law
of motion which one is taken along

with mass to measure force ?

(A) Velocity
(B) Change of velocity
(C) Rate of change of velocity
(D) Square of velocity
6 Q
R 6Q 11.5A
i
12V

In the above circuit R = ?
A 12Q
(B)

(C) 50

8 Q

(D) 2Q

(Continued)



124. 655N QRQ gMA. GoI6e adeg 14 /6.

125,

126. (i

690166 FERIT FER D! 6960 ABF A0 ?
(g = 9.8 m/s?)

A) 7§

(B)

(&)

108
14§
(D) 20§

66lITN §QUQ TRRILIR 636 Y@ QIR
QUIACR YRGS FR6ER LI FEQ
goeqi

(A)
(B)
(C)

9R-09d°d 621
2JI621QTQ
ZORQR0 Q8

(D) Q994 cARL

ATS 9gQ 6997 615,
| 6996Q gYgeM |
2939 9gQ A8 641G e
A8 6415 6896 g |
(i) 268@ 2gQ AAY 6dlde 9e°
6R60Q eﬁl@é 6996 ggeM |
(A) (i) OR <~ (ii) 6 (iii) g
(ii) R <° (i) 6 (iii) YR
(C) (iii) O] @ (i) 8 (i) YR

(D) (i), (ii) a* (iii) ga

BK - 1C/156

(93)

OTET - P-ll

124. To what height will a ball rise when

125.

126.

it is projected vertically upwards with
a velocity of 14 m/s ?

(g = 9.8 m/s?)

If the length of an electric conductor
is doubled by a machine, then its

specific resistance shall be :
(A)
(B)
(C)
(D)
(i)

one-fourth
halved
unaltered

doubled

Molecular weight is applicable
in the cases of compounds
only.

Molecular weight is applicable
in the cases of all elements and
all compounds.

(ii)

Molecular weight is applicable
in the cases of all compounds
and some elements.

(iii)

(A) (i) is correct and (ii) and (iii) are

wrong
(ii) is correct and (i) and (iii) are
wrong
(C) (iii) is correct and (i) and (ii) are
wrong

(i), (ii) and (iii) are wrong

(D)

(Continued)



127.

128.

128.

BK - 1C/156

(i) @A 2I9Q

(i) 6qAUAR ANAQ

(i) euegdan AR

(iv) 6UANQ ALY

QATERUB FRIQ 6PR FRCER ANR AHR
QAEAYER &I ?

(A) (i) 8 (i)

(B) (iii) @ (iv)

(C) ()a8(iv)

(D) (i) 6 (iii)

(i) FeCIZGQ ‘Fe'a ediayel diel,
SOZGQ ‘S’ Q 6Ol Gl 2T |

(i) SnO,6a ‘Sn'a 6aIRyel QILl,
CCl,6a ‘C’ @ 6QI9YGI Q12!
2166 |

(i) N,06Q 'N'a 6QISYQ] &]IIQI,
H,S6a ‘S’ & 6QIRYSI oIl
2166 |

(A) (i) 6 (iii) OR 9" (i) @R

(B) (i) O 9a* (i) 6 (iii) @R

(C) (i) 8 (ii) O " (iii) @R

(D) (iii) 09 <" (i) 6 (ii) gm

(i) N, (i) F,, (iii) CO, (iv) H,0

RUCAUB YERNR AYR 9V FORER QUG

69R2RI REMRYLR A°WIQ K& @

F6C)I FRIQ 6226 IFG ¢ 26E' ?

(A) (i) (i) Ciii) (iv)

(54)

127,

128.

129.

OTET -P-ll

()  Lithiumion

(i)  Fluoride ion

(iii) Magnesium ion

(iv) Chloride ion

Which two of the above contain the

same number of electrons ?

(A) (i) and (ii)

(B) (iii) and (iv)

(C) (i)and (iv)

(D) (ii) and (iii)

(i) Thevalencyof ‘Fe’in FeCI2 and
that of ‘S’ in 802 are the same.

(i) Thevalencyof‘Sn’in SnO2 and
that of ‘C’ in CCl4are the same.

(iii) The valency of ‘N’ in NZO and
thatof ‘S”in st are the same.

(A) (i).and (iii) are correct and (ii)
is'worng

(B) (ii)is correct and (i) and (iii) are
wrong

(C) (i) and (ii) are correct and (iii)
is wrong

(D) (iii) is correct and (i) and (ii) are
wrong :

(i) N2 (ii) F2 (iii) CO2 (iv) HZO

Considering the number of electrons

taking part in the bonding of each of

the above molecules, which one of

the following sequences is in the in-

creasing order ?

(A) (i) (i) (iii) (iv)

(Continued)



130.

131.

(B)
(©)

(ii) (iv) (i) (iii)
(iii) (i) (i) (iv)
(D) (i) (i) (i) (i)

() @< QAR g, A2 AU

goRa @8 ¢ 8 998 Q6Q |

(i) ] RIAL VK A2 QAUAVFR

JoGal 98 A8 6 a9 Q8 @6 |
(i) QAQ UQ ARG GRRAT), A NG
AREIIE, AL JORY @R ARERIERY
QYR 993 |
(A) (i) @ (ii) O << (iii) @R
(B) (ii) 6 (iii) Ox 9 (i) @R
(C) (i) @ (iii) Og 99" (i) @R

(D) (i), (ii) @ (iii) OR

500 W @ 9@ 95Q 6 Q€I Q4990 626M
608 abalea AQuQ 918 udo 629,
40 W Q 626015 R \'Jmlm@, 5 Qg
eRcn 0] 692 dAMEa AQYQ 98
NT0 699 ? Y2 69N 6941 B 4 ?
(A) 89

(B) 6]l

(C)

gegilel

(D) 6QNaR

BK-1C/156

(95)

130.

131.

OTET -P-ll

(i) (iv)_(1) (iii)
(i) (i) (1) (iv)
(iv) (i) (iii) (i)

Zinc oxide forms salt and wa-

ter reacting with an acid.
(i) Zinc oxide forms salt and wa-
" ter reacting with a base.
(iii) All metals produce hydrogen
reacting with either dilute
sulphuric acid or dilute hydro-
chloric acid.
(i) and (ii) are correct and (iii)
is wrong
(B). (ii) and (iii) are correct and (i)
iS wrong
(C) (i) and (iii) are correct and (ii)
IS wrong

(D) (i), (i) and (ii1) are correct

The quantity of electricity consumed
by a500 W heater used for 6 hours is
equal to the quantity of electricity
consumed by how many 40 W bulbs
glowing for 5 hours at a time ?
This question belongs to which
category ?

(A)

(B)
(®)
(D)

Knowledge
Understanding
Application
Skill

(Continued)



132. 9819 J1Q106Q 6FF@ Q6XdY
Q86RI6IQ 6990 ARG 0IQ @R ?
(A) 968 diel 691N FRAEY Uwe
QR
(B) ARIg QU638 996Q Taa FeR
2LagEaa AIft Of V6e endism |
(C) 698 dglel gaa Faa 2°¢a
QY QLIRER
(D) 69@ dgleh gag e @9a Q&
24 QEIQER
133. 659 286 2FNQ I IRIS JVNQIL
a6 Qe I°0@e ?
A) JQIIEa ARD 2°ag24l
(B) @9 4996 2@ IO IFIN@
A6
(C) Qg Qae dgidieel egén ai
42l QOYS
(D) FRIA0 ANAER TIOIFE AIRELR
134. 6096 o099 PURE 20Es gL
Q64N Q6L ?
(A) 2D oa @lé@l
(B) JBIe g0 gL QIR
- BK-1C/156

(96)

OTET - P-li

132. Which is different from others with

133

134.

regard to instructional objectives of

~ teaching science ?

(A) Alearner drew the diagram of
a flower

(B) A learner labelled the different
parts of the diagram correctly
(C) The same learner explained the
functions of the different parts

of a flower
The same learner explained the

(D)

formation of fruit from a flower

Which statement is related to the
discovery method of teaching
science ?

(A) Learners are active
participants

Much can be learntin less time
It is suitable for large class

Syllabus can be covered in

proper time

Which is notthe objective of science-

related additional booklets ?

(A) Knowing more information

Increasing interest in science

(B)

(Continued)



135.

136.

137.

qI0Y geeea 2el a8 ggea
29Q IR
(D) 2AQQfg F6RIRIeQ QIS

WOl

6996 ANRCE AR IFNIQ VS
QeI QIF ?
(A) SRIAEARIER QITERR

(B) 63FRIF@ Qlowq 9@e AlIee

AYRER ARG 2°F 28 KA
(C) BRIe F806Q AP AR AT
(D) @6a 68I¢ 68l¢' FRIF AAFS
IS FQR
6000 ARIR JT¢ AR QAN GEL ?
(A)
(B)
(C)

()

2PN
APQIARD

QIR GG

Qa0 |

629 ARIQ JRNQIN-FI8 A8G6R
JdRieiea AN AR ARl a1 ?

(A)
(B)
(©)
(D)

Qsiie
2RISR
gae

gode

BK-1C/156

(57)

135.

136.

137.

OTET -P-l

(C) Getting answers to all textual
questions

(D) Developing inquisitiveness

Which one is not an indicator of
science-related affective develop-
ment ?

(A) Taking part in science
exhibition

Taking active part in celebrating
the birth day of scientists

(B)

(C) Securing highest marks in the
science subject
(D) Conducting simple science

experiments at home

Which is not an element of learning
activity in science ?

(A
(B)
(C)
(D)

Challenging
Joyful
Spontaneous involvement

Difficultly

In which method of teaching-learning
science, the Iéarner has more active
participation ?

(A)
(B)
(C)
(D)

Explanation
Discussion
Project

Demonstration

(Continued)



138. 661164 JRaeea JdRIQRQ AN

139,

140.

Jae A2 g9 99IQ aA’'E | 6Q9eR
QYR g4 ?

(A) G0RRR

(B)' aaIg 9o

(C) QRaR

(D) Q4R

6090 d91e1Q RIS KIF S0 AQ
ARG GEL ?

2EIYCYL

ARG RIQ

gIQ-2UPRS

AINFe Q8D

49 999 99 Q2 6@ 98 GITEN USR

28919 FAURE 9L° gIg AU
6260 JIOY-GRAS J9Q Qe 6991

JRAULIAB |
(i) 92 99 6P Q@ 94

(i) 2 9@ geQls @@L 99

BK -1C/156

(58)

OTET -P-li

138. In a period, during teaching the

138.

140.

teacher asks some questions.
What type of questions are

these ?
(A) Formative

(B) Summative
(C) Diagnostic

(D) Placement

Which is not associated with Psycho-

logical constructivism ?

(A) Self concept

Acquired knowledge

(B)
(C) “Previous experience

(D) Social relationship

In a question, it is asked to plot a
graph on the given data and to
lesson-based

answer some

questions relating to the graph :
(i) Thisis a skill-based question
This is an application-based

(ii)

question

(Continued)



(i) 92 9@ KIQ Q@ d¥
(A) 6a9% (i) OR

(B) 6@a% (i) OR

(C) @@ (i) 6 (i) O

(D) @ (i) 6 (i) O]

141. 6QI9GQQ I QAR @€ ?
(A) [ealedige
(B) ¢4€Q
(C) 6QQERIR
(D) <QETIRTR
142. Qe A8F0 6adl 6QRRG ?
(A) - Qg
(B) 2RI
(C) <IRaQ

(D) ¥gasIa

143. 629 Q86 0Q ?
() QIRERFAUL 8 A6 Q@
ARAINRIR IR @RI
(i) 6AR LIYR 6T NGRS
(i) Qe AGQVE dILALRQAE QIR

6L

(A) (i) 6 (ii) OR, @2 (iii) @R

BK — 1C/156 . (59)

(iii)

A
(B)

©

(D)

OTET - P-ll

This is-a knowledge based
question

Only (i) is correct

Only (iii) is correct

Both (i) and (ii) are correct

Both (i) and (iii) are correct

141. What is the major constituent of cell

wall ?

(A)
(B)
(C)
(D)

Lipoprotein
Starch
Cellulose

Phospholipid

142. Whidh is a serious blood related

disease ?

(A)
(B)
(C)
(D)

Tuberculosis
Anthrax
Typhoid

Tetanus

143. Which is correct statement ’?

Free living Rhizobium fixes

atmospheric nitrogen

Canker of citrus is caused by

bacteria

Preservation of milk can be

done by pasteurization
(i) and (ii) are correct but (iii) is

wrong

(Continued)



144.

145.

146.

(B) (i) @ (iii) O), @2 (i) g

(C) (i) @ (iii) OR, @2 (i) g

(D) (i), (ii) @ (iii) 08 O

JeQIB AALER 2AEFIRA IRIVG 6960
aaad efalg ?

(A) 6999R

(B) 60997

(C) Rga

(D) dgycial g@

6F64IQI9gIER §IRIde ARER
QAANER 6R AIRGIT QR ?

(A) 201Q @29l QR

(B) ¢ 9QQeR
(C) ¢daq ainely Q& FAIRQ!
(D) Q9Qa FANIREQ AR

260 AN Q0! 9F
6900 AYETEIQ AUCAIRR G682 ?
(A) <agaal
(B) QqIsdte Q18
(C) <Irde QI8

(D) GNAERD 60Q

BK-1C/156

(60)

144.

145.

146.

(A)

OTET —-P-ll

(i) and (iii) are correct but (ii) is
wrong

(B)

(C) (ii) and (iii) are correct but (i) is

wrong

(D) (i), (ii) and (iii) are all correct

Which does regulate the effect of

hormones during édolescence 7
Sweat gland

Sebaceous gland

Mucus gland

Pituitary gland

Which is a wrong concept regarding
physical change during adolescence ?
()
(B)
(C)

Sudden increase in height
Change of voice

The ability of brain not
developed

(D) Probable increase in the height
of girls over boys of same age

group
Which is not an adaptation of

Cactus ?

Presence of leaves
(B) Modified stem
(C)

(D)

Fleshy stem

Deep penetrated root

(Continued)



147. 6896 IR QIQI FIAFA F6Q FIF ?

148.

149.

150.

(A)

(B)
(C)

(D)

olale]
gaQ
CRFgRI

g
696 086 0] ?
() Q6L AR FIEM TP 68ITE 2R
QRN

(ii)
(iii)

QOISRE QIR REYYR 62IRAN
Q6YRR GRA 6RaR A} 69|
6212

(i) 6 (i) O], &g (i) @@

(i) 6 (iii) O, &2 (i) ga

(ii) 6 (iii) O), @2 (i) g

(i), (ii) 6 (iii)) Q918 OQ

(B)
(C)

(D)

6QAE (A% AAQ ARG g6 |
(A) @610

(B) 9e@

(C) 6QIgQId

(D) SFNFAE

QREFEIR I 6RITER 69Q AFRIT
2 ?

(A)
(B)
(C)
(D)

QAR
A&
20QNIR

6188

BK - 1C/156
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Which does not respire through gills ?
(A) Crab

(B)
(C)
(D)

Which is the correct statement ?

(i) The rate of absorption
increases when the rate of
transpiration increases

Crocodile

Tadpole of frog
Fish

(i) Transpiration takes place by
cuticle

(i) Transpiration occurs during
daytime only

(A) (i) and (ii) correct, but (iii) is
wrong

(B) (i) and (iii) are correct, but
(i) is wrong

(C) (ii) and (iii) are correct, but (i)
is wrong

(D) (i), (ii) and (iii) are correct

Which is not a cause of soil erosion?
(A)
(B)
(C)
(D)

Water current
Wind
Shifting cultivation

Afforestation

Which organelle is present in the cells

of higher animals ?
(A)
(B)
(©)
(D)

Vacuole
Nucleolus
Chloplast

Cell wall

(Continued)
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QAINNSL QIO ]
SOCIAL STUDIES J

91. 6AIER SIAR AFNER QIRY SRR et 91. What was the designation of the
PARIRIE J991 @8 AR ? highest officer of the revenue depart-
_ ment during the Mughal period ?
(A) Ne Rl
(A) Mir-Buxi
(B) QaIe AR ,
(B) Sipahsalar
(C) awa (C) Wazir
(D) eoe (D) Muhtasiv
92. QAR AQBIFI 68R0IER AT ? 92. Where is the Buland-Darwaja situ-
(A) gl ated ?
B) o6oged& V) AgE
®) e (B) Fatehpur Sikri
(C) [lINN 28 (C) Ajmer
(D) [IeRIQ (D) _ Lahore
93. 69 67IIGIR GIAFE QURYER §S-I2UR 03 Iburing the reign of which Mogul ruler
efIeR AIFINIER Faaml ? was=Cooch Bihar annexed to the
A) zIgeq Mogul empire ?
(B) @I2I6Ma 0 Rk
(B) Jahangir
(C) 4I21-R121R
(C) Shah-Jahan
(D) Gesreee (D) Aurangzeb
94. 696 @R VIAEQ YA YRUIASI AGIA | 94, On which date did the first war of
IR 62IReMI ? Indian Independence begin ?
(A) 149gm 1857 (A) 14thApril 1857
(B) 1067 1857 (B) 10th May 1857
(C) 16 &6qIex 1857 (C) 16th October 1857
BK-1C/156 (62) (Continued)



§5.

96.

g7.

98.

89.

30 UINZENLR 629 AR ANER

QR YTAERIS AITS cQIR2UR ?
(A) 6Qgence i), 1773

(B) Jew QU9 2aw, 1784
(C) Qd2IR @erda 2, 1892

(D) Qe €1Ae 2w 1919

609 Adea ledaw AQIIAR ERE
CRIRRIR ?

(A) I

(B) @eau¥

(C) «3e

(D) 2R

HIQERE 2FFIARER 69 52 IR
RAULIR FID ?

(A) 98

(B) 99
(C) 654

(D) Q9w

A4 QNS @4 QI RRI6R ?
(A) QO RN

(B) 69190F6QR

(C) 9QsaIan 699

(D) g6

*d6nR60e @fd6a 69Q 991 adis
Qlm QIR TR FRUER ?

(A 6eIQIea

(B) sl

BK - 1C/156

(63)

95.

96.

a7.

98.

99,
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By which Act of the British Parliament
Supreme Court of India was estab-

lished ?

A) RegulatingAct, 1773

G
D) Govt. of IndiaAct, 1919

Indian Council Act, 1892

~—

(
(B) Pitt's India Act, 1784
(
(

In which script the inscriptions of
Asok are not written ?

(A) Brahmi
(B) Kharosthi
(C) Sanskrit

(D) Aramaic

~Which symbol has not been used in

the inscriptions of Kharavela ?
(A) Swastik

(B) Vriksha

(C) Chaitya

(D) Trisul

Who built the Barabati Fort ?

(A) Yayati Keshari

(B) Chodagangadev
(C) Purusottam Dev

(D) Mukundadeva

Upto which river in the South did

Kapilendradeva spread his empire ?
(A) Godavari
(B) Krishna

(Continued)



100.

101.

102.

(C) <I6aq

(D) eadLIa

6R9 FANAIR §I1AR g2 @F4 QIQ
YRAUIRER ATR 6RIRGYEM ?

(A) aRERAQ

(B) 2QQER HIRE

(©)
(D)

JeQlR €12l QINK
Elala/sa

01RQ! QUVICRIY 2AFAIA 699 FYAT
AAIFE TR IFAQ @S §62 ?

(A) 24

(B) Q6P

(C) QLRIE IRIR

(D) Qg F6RIIRIR

6RR6 AAIFS FRIQ LR NS

QSN 62 ?

(A) FYEFIER 6RIR 6IRIFD AR
AR @Q6Q

(B) 61601@R QU B IRV ITAER

daeinlee fI&ee
(C) 2ERoR 68Q6a R 628 @R
Faadie da1219169 A9

6269
(D) 98Q@e adeedeq daleifles
ACEAIRO 6221Q QALY AIRAR

@A
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(C) Kaveri

(D) Periyar

Which Muslim ruler succeeded in his
South Indian Campaign ?

iltutmish

Allauddin Khalji

Firoz Shah Tughlaq

Aurangzeb

Which subject is not associated with
Social Science according to Ency-

clopedia Britanica ?
(A)
(B)
(C)
(D)

Economics
Geography
Political Scien‘cc

Animal Psychology

Whieh is not an objective of
teaching Social Science ?

(A) Learners are to analyse the
scientific methods only

(B) Learners will know the geo-
graphical language and defini-
tion

Learners will know how differ-
ent countries are dependant on
economic matter

Learners will adopt
equimethodical process in the

changing circumstances

(Continued)



103. QFIE ARIQ UIOQ 6QNRU-REXEY ARG

104.

105.

BK -1C/156

6RQ6 QYD g6L ?

(A) 5694 URRRRR FIQE QIR

(B) 2@ G 6@4Q g rI6x

Q0 e QA
(C) F@n I0213e QIeg AIRTQ6R
QdIQ!

(D) Q6 LRQ FNRIANR 6IFER

gy @dIQQl
gee 08 699 JNIFQea YOl
FeRIQI U6 AKYEREFO ?
(A) 9 2R
(B) @9 @6g
(©)
(D)

1YY

QeS|

6ead 581 6 goUIdI RS 9§ 26 2

(A) 2esI? 662 J°Q1QAR ZIEAILE
QReER ?

(B) @Fa gaa TR edew
AR6Q @ VI aARIR2UMI ?

(C) SFe Y& 6262 621R8MI ?

(D) 69audQ gAIR aIR 2EAIR RE

QRN ?

(65)
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103. Which is not related with the compre-

104.

105.

hensive objective of Social Science ?

(A) Showing the causes of the

change of environment

(B) Determining the relation be-

tween economy and develop-

ment

Marking the historical places in
the map

(D) Showing the differences of dif-

ferent regions in transport sec-
tor

The project method is based on pro-

_gressive ideas of which education-

ist ?

(A) JohnAdam.
(B) John Deway
(C) Plato

(D) Rousseau

Which one is a thought provoking and

anticipatory question ?

(A) When did Asoka ascend the
throne ?

(B) What impact could have the
devastation of Kalinga War
brought in the mind of Asoka ?

When did the Kaling War take
place ?

What did Asoka do for the
spread of Buddhism ?

(C)

(D)

(Continued)
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106. aaqal 6aa W9l AEeR gQQ AeAla 106. On which aspect does a myth give

@Giag ? importance ?

(A) 21« oy (A) Historical fact
(B) acdlialIge Qd (B) Reality of event
(C) «I8de Qo (C) Imaginary picture
(D) &neal (D) Legend

107. 6906 290 08R BINg 980 a9l Ba6a 107. Which is used for the enrichment of

LA FAULIN ? content knowledge ?
(A) Q@eegdel (A) Guide Book
(B) <ioy gee (B) TextBook
(C) oadqee (C) Reference Book
(D) uaua gl (D) Practice Book
108. 6996 699 0AGIIER 639QY 6L ? 108. Which is-not a-characteristics of
excursion ?
(A) d[E6Q QRIS 9IS (A) Giving independence in learn-
ing
(B) glfie 9eq BIF 2I2QE (B)  Acquisition of knowledge from
the primary level
(C) Pode afieQdg 2gQs 21AR (C) Gain of experience from regu-
lated environment
(D) Q-84 ail afeed Q8 (D) Creation of an atmosphere for
self learning
109. @-A18@ Q,-gea 08AQ a8 @76 ? 109. What are the two objectives of two-

(A) 949 8 QR4 dimensional Blue print ?

(A) Question and objectives

(B) @6ae 6 I9a ag (B) Objectives and subjective mat-

(C) Q99 9g 6 2093 ter

A (C) Subject and difficult level
(D) I98 B ACQN

(D) Alternative and objective

BK — 1C/156 (66) (Continued)



110. 60Q6 162/8@ Q¢ AIRSQ 9F0IRR
Qg 2ee' ?

(A) dfgR
(B) eRIQRA
(C) @oal
(D) 2@end

111. QUALER ALR F1AR ML &4 ORR
Qa6 ?
(A) @@ 68
(B) @@ con2Iad
(C) ¢ aag
(D) @C 0e
112. @°6gd QQIQARIFNER T 64

ARG 2IFIGY 6V FRLUSH ?
(A) 62AIER QRSP B QP ARIQ
(B) RQ01A AIFSR ANAS 88 @

29I

(C). 6QAINER 62410 AN Q.

(D) 369 9I90g ARG TS ¥R
PR ARRNNER AREe @)

QIRER 6QIR T¢I YIQ
113. ol adal JRITage AIRIBER &9
QYD Y6 ?
(A) Qdy 6@

BK - 1C/156
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110. Which is the source of archaeological

evidence ?
(A) Religious scriptures
(B) Legends
(C) Myth
(D) Inscription
111. Who introduced the Local Self
Government system in India ?
(A) Lord Bentick
(B) Lord Dalhousie
(C) Lord Ripon
(D)  Lord Curzon

112. Why did the moderates in Congress
profess loyalty to the British Govern-

ment ?

(A) They were conservative and

weak

(B) Indians were not possessing
military strength
(C) They were lacking patriotism

(D) They were believing to trans-
form the British rule into a wel-

fare government

113. Who was involved in_ the violent inci-

dent of Muzaffarpurin 1908 ?

(A) Surya Sen

(Continued)



114.

115.

116.

L.

(B) @I 6QId

(C) <o Qe

(D) a&ed

6R6 S0IN16R YERITER FIVNAVIRAR
4R S5QET AR 2RI ?

(A) 0928 a1
QZRE S0IR1
AYIQE G911

QAR S0IR1

6RETIRLRE PRI 68 60469
@l@iammog 6gQEl 69Q @ M ?

(A)
(B)
(C)
(D)

IR
QoM

9
699

2N 6Q46Q QYD B AOAFAD AR
Q@ AANER GRY 626/ &Y QIFATNIER

QIdy @08 ?
(A) 6RIARN VLS
(B) RUQOR RAFF QISYAIR
(C) WREAQHY FAleR *fiera

(D) QIALRITR e YIS

QROR VOAFAG @ 5T *B ?

(A) QAUNAQIQ AQYAIER

BK - 1C/156
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(B) Khudiram Bose
(C)
(D) Ajit Singh

Jatindranath Mukherji

In which century did nationalism

emerge as a force in Europe ?
(A)
(B)
(©)

Fourteenth Century
Fifteenth Century
Eighteenth Century

(D) Nineteenth Century

In which country nationalism was not
inspired by Napoleonic imperialism ?
(A)
(B)
(C)
(D)

Whodoes act as the President in the
event of the vacancy caused in the
office of the President and Vice-
President at the same time in our
country ? |

(A) Speaker of Lok Sabha

(B) Seniormost Governor of India

(C)

Gemmany
Italy
Greece

Spain

Chief Election Commissioner
of India

(D) Chief Justice of Supreme Court

Who elects the Vice-President of
India ?

(A) Members of the Rajya Sabha

(Continued)



118.

119.

120.

121.

(B) QYRR HAITG ARYLIER

(C) CIRIENLR FFITO AR

(D) QRN 8 FUKANGYLG2R

ARYLeR

6996 69115 Q1T 6QlIFT g6L ?
(A) SFR 2% 992 1212°a
(B) Q&¢® Q°6g

(C) g 099a QAW

(D) QUG PIR ALIAR

(3R9IQ UIPERCRE 6REFART & 7Y@
Qua ? |

(A) QUIAG

(B)  QueyaI®

(C) qauaR1

(D) a1

69Q ZRIFIQ FIAFACR UL
Q6% ?

(A) 645196 QU YRR

(B) 49190 2RI

(C) 6RUCAR UNRR

(D) QIRIZIAIY 2RI

2ERR AT MR QITEQ AL 621N
Q29I QF 6718 609 RN QRILIER
2B ?

(A) QS6alg aGe

BK -1C/156
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(B) Elected members of Rajya
Sabha -

Elected members of Parlia-
ment '

(€)

(D) Members of the Parliament
and Vidhan Sabhas

Which is not a pressure group ?

(A) Nikhil Utkal Shikshak Maha-
sangh

(B) Trinmul Congress

(C) Hind-Mazdoor Sabha
(D) Bharatiya Krishak Mahasabha

Who appoints the Advocate General
of Odisha ?

(A) President

(B) Governor

(C) Chief Minister

(D) Law-Minister

Whichis nota justiciablé right ?
(A) Right against éxploitation
(B) Rightto education

(C) Righttovote

(D) Rightto collect donations

Which of the following types of land-
use comes under the land not used

for argiculture for a long time ?

(A) Culturable waste

(Continued)
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123.

124.

125.

(B) 2URIQIQ1 @F
(C) usgd @f

(D) <108 @F

QR 6QIGTE QRFY :

(A) ©9Q - qlIf1 AT

(B) g8 - QI€IGOIT AT
(C) QI — AVIQ AR

(D) QYRR — 69IFR AT

609 QR UG @84 QUAER

IR QUER ‘CHINIQA’ @RICAIN ?
(A) 20219 g8 5R2AQ

(B) QUQILG AISRY

(C) RIBH16QI8 ASRY

(D) 2Q ASRY

QRY S 699 IR RITR UGS ?
(A) |
(B)
(C)
(D)
699 9af @de @eeea 6Ll
RAGER G QIR 2RI FAAS ?
(A) QIFIFS 9Q° 6QUNRG

(B) 6QIAING N° YRAIRE
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(B) _Fallow land
(C) Non-agricultural land

(D) The pasture land

Identify the incorrect pair :

The Chambal — Gandhi Sagar
"rhe Krishna —Ranapratap Sagar
The Narmada — Sardar Sarovar

The Sultej — Govind Sagar

Which type of forest is locally known
as ‘Solas’ in South India ?

(A) Subtropical dry evergreen

(B) Subtropical Montane
(C)umTemperate Montane

(D) WetMontane

Which type of species does the wild

ass belongto ?

(A) Extinct

(B) Endangered
(C) Vulnerable
(D) Rare

In the production of which two
minerals does Odisha rank first in
India ?

(A) Manganese and Chromite

(B) Chromite and Bauxite

(Continued)



126.

121,

128.

(C) 9QUIRE ¥&° QIR

(D) QIENIPR Ne° pelgaR

699 919 HRS6R F2I9Q1R A0IQ |
QURQ! 99l Q9o Ada ?

6ql|

RO

AARGQ

62199

6R% AR AYAAR BEHIER P62 ?
(A) 6364
(B) o8gmul
(C) Qe

(D) gadead

BEHIQ 7618 ANRYFR FRIQ 6RRO0IER
QIS 0I1g QIQUIR ASIYR ? |

A) @@
(B)
(€)

¢1egge!
RGN

(D) 69IEIRY

129. 6341 QAPRE! AR QTR QL

TANG 6 QUER PAUAIREING ?
(A) 2Ql

(B) QIQIQIel

BK - 1C/156
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(C) Bauxife and Iron ore

(D) Manganese and Iron ore

Near which place the largest tributary
of Mahanadijoins it ?

(A) Boudh

(B) Cuttack

(C) Sambalpur

(D) Sonepur

Which river does not have its source
in Odisha ?

(A)
(B)
(C)

(D)

The Baitarani
The Rushikulya
The Budhabalanga

The Subarnarekha

Which among the following places in
Odisha has the highest the annual
range of temperature ?

(A)
(B)
(©)
(D)

Bhadrak
Jharsuguda
Phulbani
Gopalpur

Which crop is extehsively grown in
the sandy coastal land if in Odisha ?
(A) Ginger

(B) Cashew

(Continued)



130.

131.

132.

(C) 2Ra1
(D) ¥eiog
R 6QIGTY ARG :
(A)

(8)
(C)

AQQe — 2IQdQ!
AENRAQ| — & QI
LRAUFRIR — RIT

(D) QURAFYR — Jea1d

99 QI 6961 GR6Q gATR FIREAIT
AIRTER QIR Fe16a BUIMIRLS | 6996
QAQ0IQ YRIe FL AIRFE ?

(A) 16a.8. aqie 10 &.4.
(B)

(C)

1:125,000
1 6Q.81. Qaue 55 &.8.

(D) 1:1500,000

Q6719606 QI FIRTRR 699 JTAT
QEIAIREIN ?

(A) 990l
(B) <ge@l

~

(C) &g

(D) qIe

133. 629 AEFOT AIGTQER &QElIg YOI ?

A @

B A
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(C) Turmeric

(D) Tobacco

Identify the incorrect pair :
(A) Angul-Alumina

(B)

(C) Brajarajanagar— Paper

Bileipada — Sponge iron

(D) Rajgangpur—Cement

Given below are the map scales of
four different maps shown by the
teacher in the clasroom. Which map

has the smallest scale ?
(A)
(B)
()
(D)

1 c:m. equals to 10 km
1:125,000
f.c.m. equals to 55 km

1: 1500,000

Which aspect of the map is shown

- by contours ?

(A) Distance

(B) Rélief

(C) Direction

(D) Scale

Which symbol indicates spring on the
map ?

A @

B) A

(Continued)



134.

135.

136.

(C)
+

(DN |

AIR5e6a 9996 604 AT QI

QdlQIRalg ?

(A)

(B)

(C)

(ala)
st
AR

(D) @Gl

J9Q 65410 A ANIER TR
QIR 6541160 IR IR IILIQ FEM |
12 CIRSQT 69Q gRIaa ?

(A) 91909

(B) Q@@

(C) Q-

(D) 94IARR

Q6eIR FRNQIRER 683 gF @&l
GC168 606 gRIQ AR SRR ?

(A)
(B)
(C)
(D)

RS
67QI0R
Slelzila
ANqAE

137. ‘geg géia’ G4 geas 9596 ?

(A) §loQq

(B) 86eQQ
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(C)
+
0O) K

By which colour is the settlement
shown on the map ?

Red

Yellow

Green

Brown

The teacher used a map irn the
classroom to teach about the
population of Odisha. Which type of
map is’it ?

(A)
(B)
(C)
(D)

Physical
Thematic
Topographical

Administrative

What type of test is used to know the
learning weakness in goegraphy ?

(A)
(B)
(€)
(D)

Placement

Diagnostic

Formative

Summative

Who promulgated the ‘Project
Method’ ?

(A) Watson

(B) Stevenson

(Continued)



(C) feada

(D) % Qi

138. @4 J9IQI9-998 JRR 6QRAQ YT |

Qloy geR
9@
agel

(D) CIOYEIQG!

139. Q60IR JFR 6°Q ARDER 9K AAAER

140. ‘QEQIRIVR’ QIR TIO CARRIR 674

141.

8 4R ARR g dwd 2 8 AN
2000 9ed 38 QIR 98e’E ?

(A) gous adieead

(B) <6alf ad4eQns

(C) 6RBYAE

(D) gef 98d

6QITIRQ 2GS ?
(A) Q0]
QALIAR|
dRI21ed

geaual

602 JRIT 09 98Q ARy H6RIT 0IQ

Qa ?
(A) Qle@

(B) &q
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(C) Montessori

(D) John Dewey

Who is the centre of the teaching

learning process ?
(A) Textbook

(B)
(©)
(D)

Teacher
Learner

Syllabus

In which method of Geography
teaching do many pupils learn at a
time and at a place without wasting

money and time ?
(A)
(B)
(C)
(B)

Direct observation
Indirect observation
Field trip

Project-method

To which stage of lesson planning in
Geography does the ‘Objective
Specification’ belong ?

(A)
(B)
(C
(D

Introduction
Presentation

Conclusion

~—

) Application

Which rock is different from the other

three on the basis of formation ?

(A) Marble
(B) Gneiss

(Continued)



142.

143.

144.

145.

(C) QARG

(D) QIS

MR QA WY 6960 ?
(A) 2.75-2.9

(B) 3.1-5.0

(C) 4.75-75

(D) 5.1-13.0

2186 9900IR! 69Q gRIQ 990 ?
® g |
(B) @@

(C) @leqa

(D) [9RNQ

sad arop 09ea Qg QIal Q& ?
(A) G688 Aree

(B) EIQQIQ alalala

(C) Qe @f afeR

(D) 6RINY TR

F69)I8 609 AR 2Ry F6rIFoIQ @
QI QEAER 2GR ?

(A) eualQ

(B) 621G
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(C) Basalt

(D) Quartzite

What is the 'density of the mantle
layer ?

(A) 2.75-2.9

(B) 3.1-5.0

(C) 475-75

(D) 5.1-13.0

Which type of mountain is the Andese
Mountain range ?

(A)
(B)
(C)
(D)

Block

Fold

Volcanic

Residual

Which plain is formed due to the work
of wind ?

(A)
(B)
(C)
(D)

Deltaic plain
Drift plain
Flood plain

Loess plain

Which of the following places is
located in a thermal belt different

from the other three ?
(A) Bhopal
(B) Kolkata

(Continued)



146. 9160 0@ F9e QIZea UV 699

147.

148.

149.

(D)

(C) g

(D) ©QIee

daaieq §1om 29 ?
(A) Qe
(B)
(©)

(D)

glalalala
AR

QIR
Q7@ QIY R 6 6@% ANACR YRULE
6QIQeIN ?

(A)
(B)
()

AREQR ARRICQ AR QY
QR6ARI AR ARG AR
QUPEAR! FRRUTIQ AFQ ST

AUCEIRI AYQQ ARRIC! AR

360l QTR 6QI00FR AIQ 6RNE
2UEE QEERIEIQ AN FERITOIQ @R ?
(A)
(B)
(C)

QIR 6919
QeI 6919
RPN 6419

(D) eogrEiRl 6919

RJQ FRQ AOIQ ¢S Z°FT 6RR0IER
Q@YUT ?

(A) 9910 @ QAR
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(C) Mumbai

(D) Chandigarh

By which process is the earth surface

cooled in the clear winter nights ?
(A) Conduction
(B)
(C)

(D)

Convection
Radiation
Evaporation

How and when does the sea-breeze
blow ?

(A) During day time from land to
sea
During day time from sea to
land
During night time from land to
sea

(B)

(D) =During night time from sea to

land

Which of the following ocean currents
is different form the other three on the
basis of its location ?

(A)
(B)
(C)
(D)

Canaries current
Gulf stream
Labrador current

Benguela current

Where does the main portion of fresh

water lie ?

(A) Asrunning water

(Continued)
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(B) QQaIegieq (B) Inshape of ice
(C) Qewea (C) Underground water
(D) LD FRIFAER (D) Inland water bodies
150. 6% 6861Q R19F ATTCR FRIAN ? 150. Which category of biota are known
A) QIR as the decomposers ?

(B) Q46U (A) Producer
(C) (B) Herbivores

aledidn
(C) Carnivores

D) ¢qoeswial
D) < (D) Detritivores

X,

>
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